The saying "Saat vaar, nau tyohar® (Seven days.
nine festivals) is associated with which state of
India?

Choose the most appropriate answer from the
options given below:

(A) Odisha (B) Gujarat

(C) Rajasthan (D) Bihar

(E) Question not attempted

g R A RER T8 FEE Wi F ford 05T 4

fFpafafiaa freedt § & watfie soges ICEA:
(A) afsmm (B) T
AET TN (D) feem

(E) I¥Fafa 9d

In Rajasthan, inserting a gold nail in the middle
of teeth by women is called:
Choose the most appropriate answer from the

options given below:
(A) Baarni (B) - Borla
{(C) Daamana (D) Choonp

(E) Question not attempted

Tered # Afgaredt g g6t F i @ ft fia
GULEIE e s SR
Frreferfiaa famredi # & warffires sugw 3w H:
(A) s (B) @i

(© Dy
(E) afmus

In Rajasthan goddess Sanjhi is an incarnation of:
Choose the most appropriate answer from the
options given below:

(A) Seeta (B) Parvati

(C) Laxmi (D) Usha

(E)  Question not attempted

T # 3t A R w1 s o
Fretferfea faaredt & @ wraiferas 377w 3
(A) e (B Ut

(C) =t (D)

() srgaf wa
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According to the 2011 census, which district had
the highest sex ratio in Rajasthan state?

Choose the maost appropriate answer from the
options given below:

(A) Jaipur

(B) Dungarpur

(C) Jaisalmer

(D) Dholpur

(E)  Question not attempted

2011 it SHUAT & ATAR TEIH ToF § wadt

mﬁﬁﬁﬁ#mﬁwmmﬁ
(A) AR
T
(C) <rEemT
(D) &R
(E) afta s

Which of the following districts had the highest
literacy rate in Rajasthan according to 2011 cen-
sus? -

Choose the most appropriate answer from the

options given below:

(A) Tonk
(B) Churu
(C) Kota
(D) Dausa

(E) Question not attempted

2011 36 STV 3 SRR Freffa § & o
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e faeedt § & Ferifires guge I I
) T

B TF

ey W

(D) @

[ Contd...



@On cumbining nQ@ classes of students having
-average marks 28 and 40 respectively, the overal|

-

B+ 4 -

average obtained is*jlt'} marks. What is the number
of students in the ﬁf_x_;l'class il the second class has
35 students?
ET: 28 3t 40 mﬁaﬁmﬁﬁ@lw
& A ey w iw F Sfad 30 30 B) af
7alt e & 35 ¥, 4 vech Fan § ot A e
ERIT%? — L]
(A) 150 (B 130
175 < (D) 70
(E)  Question notattempted / AT weg

{' "
A sold a piece of Ih:ﬁd to B at a gain of 20% and

B sold to C ata gain of 10% . I C paid 2,64,000 | 10

for it, at what price would A have purchased it?
A 3 48 3 T T FD20% T R B 3= 3N B
3 10% F TR aT C AT a?r%mmﬁcwaﬁ%zam
FeIT 2,64 U-DUHEE-I?IT?’A e
«ar? T~

(A) Z1,70,000 \ " (B) %2,50,000

(C) T2,20,000 ¢~y (D¥ T 2,00,000

(E) Question nof'dttempted / 3T ¥4
e

The gland that sec%es insulin is and

prolonged low sE{;‘relion of insulin leads fo
- the
Choose the most [appropriate answer from
options given below{
(A) Pituitary, Diabetes
(B) Pancreas, Diabetes
g
(C) Thyroid, Gout
(D) Pancreas, out
(E) Question not attempted
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1DS does not spread throughc pes
Choose the most appropriate answer fro
options given below:;

(A) Infected mother to foetus _:_‘_F
(B) Handshake with the patient
(C) Transfusion of contaminated blood
(D) Use of infected syringe :i
(E)  Question not attempted
AIDS (T2H) %;gmqﬁﬂﬁlﬂ%l
Pfefian faet & 8 rafiras 39 3
(A) HhiHe HELH YOI
Uft =afer & e femr
(C) HehIw Teh 1 ATIH L
(D) R G AT "
(E) @ £~
Match List-T with List-IL " ;
List-I List-1I &
(Type of (Source os waste)
waste) .
a. Pen Drive L Hospital waste
b.  Usedsyringe IL.  E-waste
c. Not easily I. Kitchenywaste
degradable. -
waste ' |
d.  Vegetable IV. Plastic raterials
peels oy
g1 vfﬁ nagfmatm
HEt-11 (3rafire
(amﬁma:r mm@ a BE
;[am) [._' 'EE p T
a.
v mﬁnaﬁrw&\m v
0y
c. 3=ITHFﬁ ﬂ @ﬁﬂnﬁr qfire
agfea F 4
ﬁﬁrmawﬁw Oy
A ufewiH e IV \cenfies i am
Choose the most appropriate answer from the
options given below: i
fr=r fau o ferereut ﬁﬁmmmgﬁl
(A a-W,b-lLe-1,d-1 L‘
a-lLb-Lec-1V,d-111
(€ a-Lb-l,c-NLd-1V 'i\:
(D) a-Lb-1V.c-lLd-11 ¥
(E)  Question not attempted / i
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n eye, light is focused op-
11 Palash forest is Not found in which of the | 14 In the normal huma
following regions of Rajasthan?

Choose the most appropriate answer from, the
Choose the most approprigse answer from the

1 :i\l'(!‘l"l bc]ﬂ“":

options given below: options g .

(A)  Ajmer (B)  Udaipur (A) Retina

(C) Jaisalmer (D) Alwar (B) Iris

(E)  Question not attempted

ﬁnﬁ;ﬁgaﬁammma;&wﬁ@) €} Les

R ST &2 = (D) Pupil

f "%Iaﬁﬁ-{i o fape ¥ 3 waifire E*HL';W‘;%: (E)  Question not attempted

(A) (B)  Fmaq T A

(SR (D) e YHFN AR R T S s

(E)  uf war ﬁwﬁf@ﬁﬁﬁﬁﬁﬂmﬁw@gﬁmﬂi:
12 Atthe time of integration of Present Rajasthan, in A e

the first phase, which was the first group to be (B) mfmmaimEfer :

Choose the mase appropriate answer from the

Options given below: (D) 3

(A)  Rajasthan Union (E) rgefa s

(B)  United Rajasthan

(C) Matsya Unijon

(D)  Greater Rajasthan 3

Select the option among the following against
(E)  Question not attempted which regular reflection will take place:
aﬁqnmm%qﬁmm%m,ﬂ@_wﬁ,aﬂ

S il Chfmc the most appropriate answer from the
ﬁql%fﬁ%ﬁ%ﬁfﬁ%mf&maﬂgﬂ;wgi: options given below:
(A) Twam e (B) TAEEE T (A)  Piece of paper
) T (D) e (B)  Polished smoory
s : = mooth wooden table

(C) Cardboarg surface

13 Who was the first Rajasthani to be awarded the (D)  Chalk Powder

Paramveer Chakra?

Choose the most appropriate answer from the ) Question not attempted
00 0!
options given below: Freafefen & & 3w P e e frafig
(A) Shaitan Singh (B) Piru Singh TEHT B
(C)  Surendra Singh (D)  Ved Prakash ﬁﬁﬁ‘lfﬁﬂﬁiﬁaﬁﬁ ¥ waifi —
ti t attempted 3
(E) Qu.esgnn not a ;gpa?am i @) Wiﬁlw s
o - _ABY et i g e ) o
ﬁnﬁ‘@aﬁﬁﬁﬁﬁmﬁ%ﬁmﬂmﬂtﬁ: © wddd .. |
W) Jmfie  _4m) defie S |
©) gz fie (D) % wam ( —_—
(E) syt vy (E) i
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Which of the following is an incorrect statement
with reference to light?

Choose the most appropriate answer from the
options given below:

(A) Two mirrors inclined to each other give
single image.

Splitting of light is known as dispersion,
Incident ray, reflected ray and the Normal
drawn at the point of incidence to the
reflecting surface, lie in the same plane.

16

(18)

[—

———

Regular reflection takes place from shiny
and smoaoth surface. )

(E)  Question not attempted

Frfefas somt & & @9-81 v ¥

f et g |

j:/%ﬁaﬁﬁﬁ&i 7 4wt uge s +

TH-ZHU A AT T D 307 v whf
T

(B)  SebaT 7 forse B webol e
(©) ;wﬁaﬁw%&ﬂrmﬁm
e foig T witan T sifens (e

ﬁﬁﬂaﬁ%ﬂﬁﬂﬁlp
(D) Pt wads wweer i et T &
ﬁﬂl’%lw _
(E) afaws

With reference to laws of reflection which of the

following is the correct statement?

Choose the most appropriate answer from the

options given below:

(A) Angle of incidence is always lesser than
the angle of reflection.

—

'T?
A person used

0 save 10% of his inc

u%ﬂ#

two years his income increased by 20% but he

T

could save the same amount as before. By how
much percentage has his expenditure increased?
O R T 30 37 1 0, a1 e 21 2 e
JHH 3T 20% 3tfireh 2 118 SAfert 7 1w et &
uﬁwwi,?ﬁmm@éﬁmﬁuﬁmgﬁ g,fj:

Ww%’! \ﬂ‘ﬁ- i
- -—

(A) 24%"" (B) 25.%.%

© BI%  pf nlu

(E)  Question not attempted / Tt ug

In a box there are three rows of toffees. The first
row has 60% more toffees than the second row
and third row has 40% less toffees than the second

| row. If the total number of toffees in the box are
96, then the number of toffees in third row are:
e St 7 o fi i ) el e F el &
60% fereh ikt & i frerdt shame & et 409,
&0 it & e Tl 1 e we 96 2, v
S 2 o e -

A) 16 B) 12
(B) Angle of incidence is always equal to the (A) (
angle of reflection. € 15 P 18
(C) Angle of incidence is always Zero. (E)  Question not attempted / P 92
(D) Angle of incidence is always greater than
the angle of reflection. .
(E)  Question not attempted e @ The percentage difference between a% of b and
e 3 fst 3 god § frafefaa AAIEEC
%mﬁﬁwmm@: b T a% 31 a T b% F1 et wfeera o &:
(A) Y BT T Wﬂﬁiﬂlmﬁg‘?%l (A) (ab)% BT 0%
BT T IV e T e % -
© owmImERTEaAd © () ® 1%
(D) Wwﬁﬂ a st e (E)  Question not attempted / SFRHE ¥
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@1 40 litres of a mixture of milk and water contains
15% of water. 10 lltrcs,,gf water is added in the
mixture.” The percentage of milk in the final
mixture is: i

gy i 3 40 e 3 firaror & 2506 wrt 1 frspor

ﬁlﬂ%ﬂmaﬂ?ﬁﬁrﬁ?ﬁmia’rm@ﬁw

dggasfeae O

(A)_ 70% (B_} 65%

U@; S 0% (D) 75%

(E)  Question not attempted / 31wftw 94

{-:‘ The average age of a husgand wife and their only

“ child is 22 years, Fiveg jyears ago the average age
of husband and wife wag 26 years. The present
ageof the childis: ¢y

7 (A) 4 years (B) 3 years

R ' (C) 2years (D) 5 years

: J (E)  Question not atténipted

Y afe, Ueft 3R O = o afvem aw 22 9 2 g ad

ﬁuﬁqﬁﬁaﬁrm%a&aﬂiaﬁﬁm

A F~

. .M’ 4d B) 3

€ Tl o 29 p‘:i') s

> (E) wfawy %

- G’/'\ If the cost price of an arujle is 80% of the selling
F o/ price, then the profit percent is:
o

W w&%ﬁmwm@mmmwsu
U & dremrstmgs ™~ —

® (A) 22% By 25%
o ©) 30% M) 20%
(E) Question not aﬂgﬁjptcd | rafE v

of lb 24 Meja Dam is located imfwhich of the following
L places of Rajasthan? (2
Choose the most appropriate answer from the
options given below:
b b (A) Kota #(B) Bhilwara
s (C) Udaipur [(D) Tonk
%/ (E)  Question not atfempted

@ Frfefn i & T e T wCien afy |

I
ﬁwlﬁftaﬁmﬁﬁﬂfn%ﬁ%ﬁﬂﬁmﬁi
(A) T _é*)’ ieramst

€) IR D) I
(E) i vy
KIM| ¢
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Bisalpur Dam has been constructed on which of

the following rivers 0 iRﬂjasthan’?
Choose the most appropriate answer from the
options given belowt™
(A)  Luni river v(B) Saraswati river
(Cy Chambal rivcgtj(D) Banas river
(E)  Question not @(I,Fmptcd
Fraferfian & & Trarear i form 72 o ferery atg
1 o fopam mmam 2 -
Wﬂ%ﬁﬁﬁﬁﬁmﬁﬁww?ﬁ
) T B)
(C) TEATE [ (D) T

(E) rqai@wyg v
O

Where is Pichola ]a&nf Rajasthan situated?
(A) Bhilwara Q{B} Udaipur

(C) Banswara (D)  Ajmer

(E) Question not &Egempted

Toredr <t faten sfw e faa 22

—

In camel’s milk whﬁ of the following vitamins
is found in lowest amount?
Choose the most dppropriate answer from the
options given below:™
(A) VitaminB, ™
(B) Vitamin By
(C} Vltamlﬂ B|2 H
(D) Vitamin B, O
(E) Question not attempted
forfeften & & e % qu & frm Rrafim RS
Rl i o S
Frafetfian Fravesit ﬁ waifers 3ugw so .
(A) feifims, - 4
Fﬂaﬁﬁ B.ﬁ (\[
faerfim By, O
[D) faafimp, - 1
1)

(E)  S7aft wy
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Animal husbandry does not include:

Choose the mggy appropriate options from the
given below-

(A)
(B)
(C)
(D)
(E)  Question not attempted

e T #:

Frafefaa fmedt 3§ & aatfire svas s,
(A)  FFeTeH )
(C) weed e (e

(D) g 5 o

(E) Hqaf@ws

Poultry farming
Z0o management

FisheﬁeS

Breeding of livestock

Which of the following statements is not correct
about camel?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(9

Vitamin C is not found in camel milk.
Bactrian camel has two humps.

Camel hamp do not store water, they are

full of fat.
Dromedary camel has only single hump-
Dot cicdacml 2l

(D) _
(E) Question not attempted
ﬁq%r@aﬁﬁzasaftﬁﬂmw_;mﬁm
3 o e B O ST
(A) 4oy 35 Pl 14

) g nd TRl

o g AR B, AT
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31

Laxmi Niwas Mittal, born in Rajasthan is a
famous personality in the field of:

Choose the maost appropriate answer from the
options given below:

(A)
(B)
(€
(D)
(E) Question not attempted
v o, e e ot g 8,
admisRegd

Freifeftae freped i & warfiras Jugw 37 :
(A) &

(B) El'ﬂ'ﬁ__

ey
(D) Ffern
(E) iguftawa

Sports
Science
Industry

Medicine

Ila Arun, an artist born in Rajasthan is from the

field of :

Choose the most apprapriate answer from the

options given below:

(A) Kathak dance

(B) Poetry '

(C) Folk - Pop Music

(D)

(E)

T 9 e SR | 8 & Wi

Preaferfiae foered § & Farifires g s
LAY T

(B) wfn

(C) - it

(D) ﬁﬁm "

(E) agﬂ_ﬂauﬂ

Painting

Question not attempted

| Contd...



@ Chitrangda Singh, an artist from Rajasthan is

33

KiM| ¢

most famous as a/an;
Choose the most appmpriarf answer from the
options given l'n.lm.lvl

(A) ;‘ ~

(B) .

(C)  Sculpture nél.::

(D) v

(E)  Question m;; T&t{cmpled

TsTedr Y Ferrwn ey it frg & ¥ gatfus
vtz &2

Aclress

Musician

Painter

NS

Which of the fJilbwing is correct about the
administration 0;};1arek’
poultry birds? ()
Choose the most a}:pmprmre answer from the
options given belﬂ“-',

(A)
(B)
(€)

s disease vaccine in

Intramuscularly in thigh muscle

In eyes with'iater

By scratchi}::é

(D) In drinking%ter

(E)  Question n-ei km:mpled
TR el # wiw in A @ R
ﬁqﬁfﬁaﬁﬂﬁﬁmw

Pt faedt & sraffres v v
(A) = ﬂwﬁuwﬁahﬁﬁﬁlﬁﬁ

(B) trm%;mjaﬂa‘iﬁ

© guw .

(D) tﬂﬁ:trr-ﬁ&

(E) ﬂfﬁrﬁﬁuq

{ -.)

‘
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" (D)

Which of the following vaccine is used for
broilers in poultry?

Choose the maost nppmprfg-? answer from the
options given below: =

(A)
(B)
(€

Ranikhet Disease Vacéine (F strain)
Ranikhet Disease Va:o;;;jne (R:B Vaccine
Ranikhet Disease ‘Vaccine (F strain
booster) :i

(D) Marek's Disease Vaccine

(E)  Question not attempted

Wﬁm%mmmmmm
ﬁ'mrm%‘v k>

ﬁqﬁaﬁﬂﬁﬂmaﬂw%ﬁrﬂgﬁ:
(A)  TrlrE o e ()
(B) u-ﬂ@ﬁﬁnaﬂaﬁamugzﬁaﬁm
©) u-ﬂ@ﬂﬁrrmraﬂa:rwéﬂm
(D) wWEHMTFIHF
(E)  argfa gy

e i
=
{‘-».,
Which of the following va(imj:e 1S given on day |
in poultry industry? LRS!

Choose the mose ﬂpprﬂpr):‘je answer from the
Options given below:

(A)
(B)
(©)

Fowl Pox Disease Vn¢cme

Ranikhet Disease Vgccme

Marek’s Disease Vapcine

(D)  Gumboro Disease \"n&me

(E)  Question not auempled

T T X 18 Aoy ot ot e s
m&mﬁwﬁﬁﬁ%@:
(A) FF2 S (oraer o) vt v

(B) hEmImE A |

(C) T W 1 Fra
TR A o e

i vy

1
g
' {'\,;
' |
Y

(E)
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36  Whichofthe > following is not included in Panchpir

in Rajastha -‘r

Choose the’ nm-;: appropriate answer from the
options giv cn be'lnw

\d

(A) T‘:Ja-lf W (B)  Ramdev ji

(©)  Gogayiy (D) Pabu ji

(E)  Question not attempted

Frefefias 3.2 23 tromam  dadkc ﬁmﬁaC

34

frafafiaa mﬁmmm@

Ay ST (B) TR

(©) *ﬁmﬂ’r“_u (D) 9t~

(E) STaRaus

Y
37  Identify the correct statements given below:

a. Kallaji, who displayed exceptional bravery
and courage during the invasion of Chittor
fort by Akbar, is popular as a four handed
folk deity in Mewar region. '

b. It is Believed that even after Kallaji was
beheslded his torso reached Rundela while
ﬁghtmg_‘ the Mughals.

c. Kamadm panth was formed by Kallaji.

d.  Pabujiis worshiped as the God of camels
in R.a]aﬁhan

Choose the most appropriate answer from the

options given below:

(d‘:\) b, c, ?ﬂly (B} a, b, d 0[1:)"

© acdonly (D) abcomy

(E) Question not aﬁfmp‘*?;_t

e HYAL 1 TE
P e TR, (g ot
‘%a A SRR awr
T, g & e A
# F‘fﬁf‘@gj 1 i A &
p, T HET S Hg;ii E'W' g &N
FaE . rd ol
% SN
v am‘f'"

(A) A b‘ c,d ¥ada, bs

(C) %ﬁ'&f'rﬂ. g:ﬂ

® | T

KLM| 4

L.

_ﬂ%—# an/ef?

L]
]

@ Who was the ﬁlmcusufolk singer during the

princely movement of Rajputana?

Choose the most upé;qprfutc answer from the
options given below: (_'*\1

(A) RanaBai Ej.
(B)

Chand Bardai D
(€

(D)
(E)
AT

P.K. Mishra 1
Ganeshi Lal Vyjas

Question not at‘ehﬁ'lptcd

¥

A H

€y
ﬁnﬁfmaﬁm&agﬁwmmgﬁ
(A) Tom A (B) aaam#y

() 4% fipn qﬁnﬁ__mfam
() SERa¥s
[~

: s
Which of the following is most appropriately
b

HEEK?

Choose the most upﬁr%prfme answer from the
Wl

c
connected with CARI]

options given below:

(A) Goat ;f
(B) Sheep
(C) Poultry E*«:
(D) Camel QY
, v
(E) Question not ut&snpted

frafafas & & *war & - fnfls (CARI -

NIRBHEEK) & Ha#l 334 &9 ¥ 931 gan &2
freferftan el & watfirs suges 3w
(A) =G I-:l
(B) W% (o
© T
(D) ¥z -
(E) 37aRa o=
| Contd...
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G@ Which of the following is an important grass used

N

-

bY

41

as animal fodder in Rajasthan?
Choose the most appropriate answer from the
options given below:
(A)
(B)
©)
(D)
(E)  Question not attempted
Frafafes & & e § g =i & fag A
T T S St 22
Frisfa Faeved o & warfires awgms s g
(A) WRE (Hfesitorar dad)
B) e @i wt)
(C) ATITERE (e TR
® ety
(E) SIqaRawH

Sares (Albi=ziq lebbeck)
Peelu (Salvadora sp.)
Araduw/Maharukh (dilanthus excelsa)

Moorat (Penicum turgidim)

Which of the following animals are commonly
reared by pastoralists in arid region?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

HETE] & I g A et i & e el
& it ) e e 82
Freaferfian e & & aratferes suges 30 g
(A) s

(B) v s wafel Yo

(©) T st

(D)  waft 3fw g

) e vy

Pigs and Dogs
Ducks and Fish
Cow and Goat

Cattle and Sheep

KLM| ¢

10

Q The term pastoralism refers to:

‘K Choose the most appropriate answer from the

43

options given below:
(A)
(B)
(©)
(D)
(E)
e wee &7 31d #:

Frefafes fosedt § @ Faffie suges 3o T4
(A) SISl = qTe-areoT S ger=mo

(B) Torem = ofit e

(C) il (@ 3i woe 3eaTET

D) WEFﬂTETf&IWI

(E) orpafea w=

Rearing and herding of animals
Hunting and gathering of food
Farming and cultivation of crops
Trade and Commerce

Question not attempted

Which of the following soils is found in
Ganganagar, Hanumangarh, Alwar, Bharatpur,
Jaipur and Tonk regions of Rajasthan state?
Choose the most appropriate answer from the
options given below:
(A) Saline soil
(©€)
(E)
T TST F TR, SHIATG, SR, WA,
v i i o P ¥ & o gt /
m—yy

(B)
(D)

Alluvial soil

Black soil Laterite soil

Question not attempted

ffefa fasedl 3§ & waifis soge swo:
w o e
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44 Which one of the following statements is not
correct about black soil in Rajasthan?
Choose the most q;:pmpriam answer from the
options given belcn;?“l
{A) Tt contains criqx?gh quantity of nitrogen.
(B) This soil is foimid in Kota, Bundi and Baran
; =i
regions, e
(C) This is fertile soil for Rice, Sugarcane and
Soyabean criﬁ's,
(D) Itis a Cheeka.dominated soil.
— h——
(E) Question notaﬁempted
ﬁmﬁﬁaﬁﬂ#-&i&wmﬁmﬁw
3 e
frefafas faeed 42 waifie sugw so T
A e g s e
(B) 9w Wat wher, At i an & J 918 A 1
i F ;
(©) wm@@mﬂﬁﬁq
IS BT By
(D) e uE g} -
N
(E) 3wt o4 -
o
45  Where is the head office of Central Arid Zone
Research Institute (CAZRI) in Rajasthan?
J
(A) Jodhpur [~
(B) Jaipur g
r|
(C) Dausa o
D) Ajmer (N
(E) Question not"aftempted
! i CAZRI) T
(/ﬁi_ﬁiﬂl = = qeH (CALR —
e o fega &2
ETer T bl
‘/w, Eﬁﬂg( [‘*-.
(B) I g
(c) @ :i
D) T oy
(B) I A g 1
KiM| 4

_4‘

10
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In some cases, pastoralists supplement their
income by selling

Choose the mogtappropriate answer from the
options given bglow:

(A)  Mineral resources
(B)  Handicraft-dnd textile
(C) Gem stongs!
(D)  Modem gadgets
(E) Question fion attempted
FO AW , AT A wopE A
hhabal .
Freaferfan faaredl & & watfirs soges 770 3H:
(A) wEEHEE
e By T =
€) ©®y i

(D) e 39T () b
(E) afE 94
¢

“Project Tiger” campaign was launched in:
Choose the most appropriate answer from the
options given belC W

47

|nr

AT 1973 (B) 198l

(C) 1983 (D) 1971
(E) Question piot attempted / i v

Which of the following conservation strategies
do not directly iugiudc community participation?
Choose the mogt-appropriate answer from the
options given below:

48

(A) Beej bachad andolan

(B) Chipko njoyement

(C) Demarcatioh of wildlife sanctuaries
(D) Joint I'urc:f'nmnugcmem

|
Question ot attempted

E
;&iri%rﬁﬂﬁﬁ J%m.‘l“lm__m‘}ﬂﬁmﬁas
e &1 G0
Freaferfiam faceett & § FAAHTErs JUT 30 .
(A) ) ST
(©) a:wﬁa'-rﬁmmmmmm
(D) W T

(B) et qpd
(.
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R
BT T iy T

In which region of Rajasthan has the Amrita Devi
Krishna Mriga Sanctuary been developed?

Choose the most appropriate answer [rom the
options given below:

(A) TPali (B)  Jodhpur
(C) Kota (D) Bikaner
(E)  Question not attempted
Frfefiam & & trowems 3 frg g Tyt et T
T AERg FY Rty ey
et i & waifirs sugw sw T
(A)  ureft — B
(©) = (D) e
(E) e uy

Which of the following forests is found only in
Mount Abu region of Rajasthan?

Choose the maosr appropriate answer from the

options given below:

(A) Salar

(B)  Sub-tropical Mountain _
(C) Tropical Thom B

(D) Palash

(E)  Question not attempted

ﬁm%ﬁaaﬁ%ﬁq%m%ﬁaquﬁﬁﬁwr&
ST #2

et Rt i & errffares
(A)

IUGE IW -f;;

©) oz Fitaw s

(D) g&TET
(E) oaqafm vy
51  Rajasthan receives most of its rainfall frop,
monsoon,
Choose the mosr appropriate answer from the
options given below:
(A) South West (3}  North West
(C) North East (D) South East
(E)  Question not attempted
Torey § gaifas auf ____mm_m?_uln
Gk _
Fferfian faet & & waffire soge 3o 93
(A) =Rwrafem (3)  Iwofimpe
(C) Iyt P e
(E) ergafawy
KLM]| ¢
- [} k"‘ ————
a\ S S
/
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Which of the following is not correct about camel
pox?

Choose the most appropriate answer from the
options given below:

(A)  There are high chances of the disease in 6

months to two years of age group.

(B)  This mainly occurs in summer and rainy

5cason,
(C) Duration of the disease is 2-4 weeks.
(D)  This is a bacterial disease.
(E)  Question not attempted
Shret i ¥ A ¥ 3o e e
Frerfefae foramedt & & wartfirg soges T -
(A) Gmﬁzaﬁ%mwﬁmﬂw%ﬁﬁﬁ
Hfers wraTeET et 2
(B) & tfererer miff e v ot ey & wr 2
©) wWITH aEfr24amed
(D) = Sfamsfm i
(E) orafauy

Which of the following is responsible for Tibarsa/
Sarra disease in camels?

Choose the mosy appropriate answer from the
options given below:

(A) Bacteria

(B)  Protozoa

(C)  Nutritional de
(DY Virus

(E)  Question not altempred

hﬁﬁ‘_ﬁ_{m@ﬁfmﬂamﬁnﬁﬁha L
Iaerfi &2

Pt faaeat i & waifie
(A) ?ﬁznul

(W) ey

() iyoy e (s

(1 famo ’

() sahE wy

ficiency

I I
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According to month wise annual calendar for
camel management and prevention of disease
proposed by National Research Center for Camel,
the best period for hair cutting is during

(‘hoose the maost appropriate answer from the
options given below:

(A) March and April

(13) July and August

{C)  September and October

(D) January and February

{l-) Question not attempted

ETARIAR R CLIEEZ LRSI ECETA LU R R
m fa 3 wE am A e & R A
FAFTEMEFA _ FEA
faferfiaa i ﬁi?mf&a;.wgmmgi’r

b T S ST

(B) s 3 e
(C) T st g
(D)  FAatT S

(L)

Which of the following statements is not correct
about camel milk? _
Choose the most appropriate answer from the
options given below:

(A) There is a very high amount of Insulin
(about 40 micro unit/ml) in camel milk.
(B) Camel milk contains lactose about 3.8 to
4.8%.
(C) pH of camel milk ranges 7.8 to 8.3.
(D) Fermented camel milk can be useful in
lowering blood cholesterol.
(I5) Question not attempted
ﬁaw ai i Fy-a1 e A
T R )
S faeet @ raffes g ST
(A) Fe i za # fgfer 6 7 ¢ (@
40 wvee gfve/foedh) AT M;Iﬂa P
(B3) ﬂﬁ%ﬁ@ﬁ’ﬂ"ﬂiﬁﬂﬁdﬁﬂggmm -
() FeFgaapHd @78
m; &szxﬁm@m‘ﬁﬁﬂ@“ﬁ“*ﬁ
& 3y &1 | 81

Wﬁagﬁ

()

.KI,M| §

e ——.
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57

Who among the following first used the term
Rajasthani in 1912 in the linguistic survey of
India for the language of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  George Abraham Grierson
(B) George Helenski
(C) George Fernandis

(D)
(E)  Question not attempted

Frefofaa & & e wedmm 1912 3 s s
gago # gerear $i wme ¥ for T e w1
winfrm

fFreferfiaa feraedt & & warffiras 3uge 37 9+
AT il waTen firrea

(B) T Eeiht

(C) it wAifeH

(D) it ume

(E) rgerawd

George Thomas

Which of the following species contains the
lowest amount (%) of lactose in their milk?
Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)
(D)
(E)  Question not attempted ]
sﬁﬁﬁﬁamﬁ#wﬂaﬁma&mﬂmmﬁ\
(afararea) €t & '
Fferfiaa Rraredl ¥ & waifie® I9gw 3w
(A) wEh

m ¥

Goat
Camel
Water Buffalo

Cow

4 ety

()
(k)

g
i wu
I Co“tdou



SN
:Ti{n was the first Woman from Rajasthan to be | 61
sted during the Indjap freedom movement?

Lh:,mw I!w ™Most appropriate answer from the
options given below: Choose the most aipropriate answer from the
(A)  Nagendra Balg »

(BY  Anjana Devj Chaudhary "

Which of the following physical regions of

Rajasthan shares its !ﬁ\lynd:lry with Pakistan?

options given below:

(©)  Laxmi Devi (A) Essiary Plain Bagign
(D) Rama Devi Pandey (B)  Western Arid Région
™
(E) ~Question not dﬂcmplcd (©)  Aravali Region*
T % 2 i TN B Tt (D)  South East Plateau Region
mﬁ ?ﬁl g qﬁ'!F.T -‘:I-?F[ «ff? , —t
F':f"_'f%ﬁfm ﬁ?ﬂ?ﬂﬂ'ﬂﬂfﬁﬁ;m?ﬁ'{ﬂ () Question ot rllqur11[1|ctl
(A) AFZIE _p sie o Frafafan & & vomm @ @ siiferrs dm
(C) =i 2 (D) TwEEITR m%mm@%m
E) & "
f‘.}1 ST v ﬁﬁ%ﬁiﬁﬁﬁ?ﬁﬁémmw?
59 Whicih f}l" the ﬁ}ii::wing districts had the highest (A) lfﬁﬂaFﬁ @ﬂ :
population growth rate in Rajasthan during the = -
dLLIldl: 2001-20117 - qﬁnf_'_wﬁi
Lllumt. the mosr appropriate answer from the (©) m?'_ﬁ QE__-
options given below: (D) =fEm @;ﬁ%
(A) Barmer (B) Ganganagar (E) Wgﬁ =
(Cy Kola (D} Sirohi i
o sti d
LI;‘:, | 2?:?;_?“ - a:‘ittcﬁq%ﬁaﬁmple 3 A s % 62  Which one of the fuikqi}ving states does not share
i fors o ST gfe T el sfue o ) its state boundary with Rajasthan?
fFrafafas freredl § & waffaes g 3@ TH: Choose the mest appropriate answer from the
AA) AT (B) frdte options given below:
€ L (A) Maharasht
¢ arashtra
() srEiE v -t
— = (B) Gujarat L

hich give birth to young ones of -
o i e S R (C) Madhya I’r:sdu.:['sb1

."/ their own kind are called:

i Chbose the most appropriate answer from the (D) Haryana (g
o‘pﬁons it b (E) Question not aﬂt\émptcd
= R il frafafaa § & 13 [ U {9 T & 9 ¥ g
(B) ]I‘l_‘_\."ltn-:] f‘ery]lz_ed_gmm__aj__ iy q_[ﬁ %
(C) Ovoviviparaous At TS ,_
U'JS GVEJEI_:-S- ﬁ ﬁ ﬁ ﬁﬁ?ﬁﬁﬁwwmiﬁ
E) Question not attempted ¥
g‘;@sﬁmaﬁuﬁﬁﬁaﬁmﬁﬁa S iy
Ferma & ® T

. _mﬁﬁmmWﬁ (©) e W2 o

(A) oiETSH (B) e siq i o
(C)y Sigsug (D) weftETsE g i
(E) ﬂﬂﬂitﬁ Bk (E) Haﬂit?‘l L o l_'C“nldm

KLM | ’ 14 :
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Which of the following National Highway iy 4
major highway passing through Rajasthan, whicl,
goes from Delhi to Mumbai vin Jnipur, Ajmer
and Udaipur?

Choose the most appropriate answer [rom the
options piven below:

(A)
(B)
(©)
(D)

National Highway no-9
National Highway no-24
National Highway no-3

National Highway no-48

(E)  Question not attempted

frafafas & & FH-01 T ot e @
e TR Tl S T 2, S feelt & s,
FT AR TR A B g A S 8
Frrferfiar foraredt & & wartferes sugw aw
(A) TS TomET §E&41-9

(B) TS T HEAT-24

(C) n@umﬁﬁw@ /

(D) U TRt §EAT-48

(E) rgaia wd i '

Rajasthan Road Vision 2025 was repared by
which of the following bodies?
Choose the most appropriate ansWer from the

options given below:

(A) Planning Commission
(B) Public Works Department Rajasthan.
(C) National Highways Authority of India
(D) NITI Aayog
i d

(E) Question not attempte P

i & 3 vy e g
frfefiaa & @ fra 7
2025 e famm T 91! ,‘
- — e c— w?l
St faaedt & @ @i 33
(A) drsET am’m
(B) @ Frgor fepsmr T
(C) syeeta T T s
(D) A 31111111
(F) @garaTd

14
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The  Capital of - Matkyy Mahajanapada  wis

Choose the maoys appropriate answer from the
oplions piven below:

(A)  Taxila (1)  Kaushambi
(') Videhn (D) Virat Nagar
(1) Question nol attempted

Y qRrAATA 6 T oy
frferfaa foagamdt i 4 wratfuas sagm 20 4.

(A) amPren’  (p)  Hmeh Y
() fmm 1y famzam
(1) wqafagg

Rainfall received in winter season in Rajasthan is
called:

Choose the most appropriate answer from the
options given below:

(A) Mavath
(B) Aamra Varsha
(C) Phoolon ki Bouchhar
(D) Manas
(E)  Question not attempted
¥t g # Trerea F @ aelt @i T S 2
frefafan fawedl § & waifie ogw 390
R, g G (B) FHadt

(C) geidder (D) "W

(E) Aqafa w4
Mukundra and Bundi hills are located in which of
the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Western Desert Plain Region
(B) South Eastern Plateau Region
(C) Aravali Region
(D)  Eastern Plain Region
(E) Question not attempted
ToredT & forw sivifere & | 3T SN i
geifeaf feua & S
frerferfeaa forepet § & waffs sugw 3w
(A)  uferdt el Aer &
() aftgor e d
(C) e &
(D) et B & .
(B) afawd }
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68  Match List-1 with Lig-q).
i List-1
I~ List-1l
{: l(-“':lldl (Its Loeation)
a, o Pituitary I Kidney
b. (\} Thyroid I Brain
6 T aerial HL Nec
e + Neck
d. Thymus Chest
T uagﬂﬁmﬁﬁm
e e
| cifen (Ram)
o (NP (fg 1 g
b. ::‘j \ wftres
c. (= WHa . TR
. YN 1IV. o
Chagse the most appropriate answer from the
QPE\]S given below:
R o P & & s e 3w g

AL AL b M- d- 1V

Byda-Lb-M,c-1II,d-TV
()

(©) a-1V,b-TLc-Td-1

(D) a-Lb-1V,c-1,d-1I

{E?f Question not attempted / i

I~

69 Hov?' many bones are there in an adult human

beg?

Chqfisc the most appropriate answer from the

op‘:mns given below:

o T e et i e e 8

ﬁﬂrﬁ“—rﬁaaﬁmm’fﬁﬂ Ao g 3a

(A}x_ 198

Jgsj"* 206

l’C) N 318

(Dy 128

fEIF3 Question not attempted / STl w
KLM | %

15
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70 Iluwiu.my chumbers are there in a normal human

Itulflj_
Chaose the most appropriate answer from the
opligs given below:
(A)Mrour
©r
,'l fJuu!mn not utu.mpud
U A wE e wE v
ﬁrqf’aﬁaﬂ Ferpe=i # 4 ratfires zages =0 4.
R B) #=
ru!_im (D) dfa
(E) ¢ jormfia 94
o™
Hurpah beings have types of teeth,
Chdode the most appropriate answer from the
options given below:
(A) Three (B)
(C)=4tOne (D) Two
(E)T™Question not attempted
ng-ﬁ Y 5 2t B

ﬁﬁﬁ%nmmmg‘q
(C}"*qa:

(B) =m
(E) M‘jﬁawz

()
(D)

Three

lwu Five

71

Four

(D) a“r},

_,—-"7?}-_‘2‘}1-’ 4|"{-§7f) -~ A

7 Whicﬁﬁ of the following is an example of physical

* chahge?
Choose the maost appropriate answer from the
uptrﬂs given below:
{A)NFOnnatmn of curd
(B)OMclling of wax
(C) Browning of apple after cutting
(D) Rusting
(E) wtQuestion not attempted
Freferfiaa 3 & -am e aftard 1 o Sevewor
a4

ﬁn@wﬁammw%
(A),. 8 & T '
ﬁmﬁrﬁmﬁn

%ﬁgmmmwm Jo
ST o

(D)
ma?rfmﬂﬁ
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1o 09 769
_ 1 w0
s T /\ 90
\ & 9 =5
7
atch Li : f
Match Ligy.| with List-I], 75  Ayushman Bharat a flagship scheme ©
List- = P T
st lfFIelmnt] List-11 {Applic“tlon} Government of India is :1.-‘{:,!- e
( 10
2. Platinum I Medicinal yse (A) Programme to Cun'lf] Pollu "
b. SulPh}tr 1. Jewellery (B) Programme of Hed rll} Insuran
c. GrapHite I _ (C) Programme of Flood Control
s N e - Pencil (D) Programme of Clinfite Control
i Ty . Thermometer (E) Question not attem tEjd
TATF /2 T 351 oo 35y ST, T T ] O W A 2-
-1 g -1 (i, (A) T o S g L
a =R /] T By TATEA AT FREFE
b. HF'csrl A i (C) g =T w1 i
= Bl (D) erary Fraor srfswrd
c. W’F SRS ( (E) srqui@ s= gj
d. mﬁ#ﬂ‘lil’} ) A it - : i
Choose the” most appropriate answer from the E_, At what rate of compoung-interest per annum a
. sum of ¥ 900 will become ¥ 1089 in 2 years?
options given below:
o P Tﬂﬁiﬁﬁiﬁﬁ{%%ﬁﬂ[ﬁtﬂ?ﬂﬂﬁﬁzaﬁﬁ?
3 _rrurfgzmnquﬁ‘m;:mgmmﬂi: 1089 B T ;&3
(A) a-l'n;b-lv,c-l d-11° (A) 12% f 7 eQ
(B) a- [_V;b H,e-I,d-1 )ﬂ (B) 15% ;—é /\ M
{Lp Le-TLd-1V © 18% o 90 90
;%9/ a7 o BT 10% Lot ?
a-fib-1,c-md- I (E)  Question not attern]g%dfx?ﬂaﬂﬁa'w
(E) Question not attempted / 3*‘:1.“&3 i
<f 77 Name the first mammal (anjmal) to be cloned:
H Which o r“t‘i'le following is not a property of Choose the most approp¥iate answer from the
- options given below:
metals? 4 v
4 jate answer from the (A)  Dolly N
Choose the gnost appropr = (B) Meesha o
options given below: (€)  Keeto v
S (B) Ductile (D) Raani =
(A) ‘Sonowu" )
(D) Non Lustrous (E) Question not attempted
() Mal]eablc FEH T ST aTe wyy g AT 2
(E) Qucblmn not attempted - ﬁﬁﬁf@aﬁﬁﬁﬁﬂmmmﬁ% ?
fresffary i gl o O TR ~ '
I T v
qquﬁ‘mzm (B) #tm o
Foreaferfae, P Vf (©) H
. a=gdn N
b (B D) T r
(A) —T (a‘l:riﬁjﬁq (
qrEAeA Mﬁ (E) =rafmwa Q*
(C) L
7
gy ST : [ Contq_,
KM | @
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Which anim
al keeps on chewing continuously

even when they are not eating?

Choos v
¢ the most approprigre answer from the
options given below:

(A)  Snake

(B) Buffalo
(©)
(D)
(E)  Question not attempted

Y- ] S T e &, a7 35 v
T T &

ﬁw%ﬁaaﬁﬁqﬁﬁ%mfmasmgmmgi
(A) i @)

By ¥

© Ty

(D) I ER)l

(E) uiea s

Dog

Lion

Which of the following method should be adopted

to produce a pure line in cattle?

Choose the most appropriate answer from the

options given below:

(A)

(B)

(C)

(D)

(E) Question not attempted -

AR 3 s s TR R s o e 4

7 i s e |
Frafefiae e & wartfires suges s

AT

afe e

m_..

e

=

Inbree:_!iﬂg
Oulcr'dssing o
Cross breeding
Oulbrc;din-g_ W

AT
(B)
(C)
(D)
(E)

KLM| ¢
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82

(A)

options given below: g
(A) Kota (B) Karauli ﬁ/
(C) Chittorgarh (D)  Alwar
"(E)  Question not atte mpted
fer i waTe oA e % f d i feam ¥
ﬂﬁrﬁ‘-ﬁ-ﬁ e # % wrarffires guges 3w .
(B) =t
%—— forhgmg (D) =&
(E) st wa t

Indira Gandhi Canal project is Jocated in which
of the following physical rcgh_:ﬁn of Rajasthan?
Choose the most appropriate answer from the
oplions given below:

(A)  Aravili Region

(B)  Eastern Plain Region

(C)  South Eastern Platcau Region

(D)  Woestern Desert Plain Region

(E)  Question not attempted

¥ mivft sex uftrsrn e % frefofas 4 9
fopm simifers drm if fraa #7

frfrfan feredl # & aaffirs Fagem 2t 54
sraelt WA

(B) et el g

(C)  afigor eff wartra aa

(E) rafmawy

In which place of Rajasthan is the Chulia waterfall
located?

Choose the most appropriate answer from the

Which one of the following districts had the §*
lowest population density according to 2011
census in Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Jaisalmer (B) Pali

(C) Tonk (D) Jalore

(E) Quustion nm attempted |
2011 ) T 5 FET o :ﬂﬁ;?rwn
"#Pﬂﬁ?ﬁﬁrm w:ﬁ i
frefefaa faed m‘f’ﬁ?‘;’ﬂ“

L (B)

"ﬁf:?f Cie] (D) N i
E) # jﬂ&ﬂﬂ’ﬂ

& 1Cuntr.l... !
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3 G L bLg ¢ Lo b = U8
.l R ' -:J’ Y ok
- m‘ R oy sy &0 2= 1% iy
e least humber which when divided by6.7ang | g8 207 of income of P is equal to 10% ©F %~

M 1!::-1\-:1 a remainder S, jeen = income. If the income of P is T 2780, then what 15
:1_—'“[ RIEh = 6. T s Pt e the income of Q7 !
AR EE L T el Y P ST T 20%, Q1 311 3 100 5 TR AR
ey =
A) 165w . P FM 270X AWQHR s w R
L) i - =3
’i“ 173 N (A} T 35680 !
Dl 170 - i (BY 28340 .
L) ~ -
71w 2 (C) T 5460
(k) Quest; N Z
107 not attempted 3R RA T Dy T5560
— = ®
R4 E) Question not attempted / 21357 W&t
- I?‘;“MEG? of first 5 muﬁ:lﬁ of 12 is; l m ;
= T O oy g 3 '
(A)  sp + 6?*@_:—%-— 89  The new name of “Indira Rasoi Yojana™, the food
C) 24 *"t " WI' ; security scheme in Rajasthan is:
E)  Question - ancm'ﬁféd T Ch?ose t].1e most appmp‘iriu!e answer from the
. 5 = options given below: .
85 An amount of ® 23,500 is to be divided amongst W41 Maletma Cendhé Reid Tggana
59 A. B and C i the Taﬁﬂ%( %IT'? Then the (B) Al Rasoi Yojana
_ ?:}f;- share of C is: t"‘*- (C)  Shree Annapuma.._'_l_las.oi Yojana
< 223,500 F = A, B M cE e ]T;%:I‘ 5 (D)  Rajasthan Rasoi ¥ojana
ﬁmﬁrﬁﬁmﬁaﬁmm‘% Arc ’q—’.r%@é’m. (E)  Question not attémpted
o C — E o
oS W9 26000 (B).) 75375 TSI 51 e et st g et s
' (C)y 7833 (D} 2 T ey
() Question not attempted / srpafes ﬁm%ﬁaﬁaﬁﬁ%ﬂﬁf&ammgﬁ:
- (A) e et i Frer
' 86 The LCM of two numbers is 36, If their ratio is (B) Ses i dremn
2 : 3, then their sum is: LS A st i v
\_ T HEET 5 e aaeds 36 b AR (D) TS it sy
S 2 2 3 B, 71 3 v T Am (B) pfawy !
(A) 24 (B 117 -
er 30 (DI“J 18 %0 The Government of<Rajasthan, announged
(E)  Question not attem?jgd / ﬂﬁaﬁam rese.n'alunn for wumirnf i Panchayar Raj
o 1 Institutions, The percentage of reservation is:
The population of a place increased to 84,000 f“ Choose the mosr appropriate answer from the
2023 at the rate of 5% per annum. Then what will Options given below:
be its population in 20257« USET m“;“a{w.ﬂa mﬂﬁmaﬁ%
foradt T 1 e 5o afiad £ 7 2003 § ﬁﬂm‘ﬁ‘ﬁwfﬁ%lmmm%
84,000 71 AT #, 71 2025 & Feh FREN T B v R
? T
/ s A ﬁmﬁf@aﬁmﬁﬂﬁﬂﬁﬁmhﬁm?ﬁl
I 9-;. 6"] l!ﬂ 25‘5"0 ;,.CH'T’ 3-.“.":1
(A) 88420 A B . Vg
93.600 )y 50% Q)} 20%
(C) 91,560 (DI 5 E)  Question not attempted /
' fiad / SR (E)  Questi attempted / AAfE vy
- tion not attem
(E) Ques 19 i | Contd..,
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U The initial name of w hich of the following canals
was Rajasthan Canglo
Choase the moxy appropriate answer from the
uptions given below:
(A) llduumnng:uh Canal
M) Indira Gandpyg Canal
() Anupgarh Cang
(D Ganga Canal
() Qllt‘*!iutl not attempted

iU T T - I T

mnq 8T U
ﬁw%ﬁaaf‘mﬁﬁamfmmmgs:
(A) - TR AR By SR et e
©) JIPRIW (D) mAm
(B)  rmfa uy

92 Where is Rajasthan weographically located in
India?
(A North-West (B)  South- East
(Y South-West (D) North-East
(E)  Question not attempted
T Wi ofe & s i et e 2

AT Feeafym (B) =fergd

© fwdfem 0 R o
(B)  orefE w

93  Select the state which shares its border with the
state of Rajasthan.
Choose the mosr appropriate answer from the
options given below:
(A)  Utarakhand
(B) Chhatuisgarh
(C)  Himachal Pradesh
(D) Gujarat
(E)  Question not attempted
mma&gﬁqa’rmm%m 3T wran
mm%n
Pt Rt § & watfirs Jugem SO
(A) IW@s  (B) BEWT '
(©) forewa Dy T
(E)  I7wfa o

KLM| &
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96

20

ey ‘

Krishna Poonia, a woman player from Rajasthan
belongs to which sports?

Choose the most appropriate answer from the

options given below:

(A) Boxing (B) Badminton |
(C) Cricket (D) Discus throw |

|
(E)  Question not attempted i

o g, Wﬁ@ﬂﬁmﬁﬂm fraaa
#wfim

ﬂ'ﬂﬁ!ﬁﬁﬁﬁﬁﬁﬁﬂﬂﬂ'ﬁﬁ?ﬂgﬁﬁﬂﬂ |
(A)  Siferm (B) w=fizm
©) Fre (D) Temwa ot ‘.

(E) af@ s
Who among the following sports persons, from

the state of Rajasthan, represented India at Paris
Olympics in 20247

(A) Gajendra Singh [
(B) Maheshwari Chouhan

(C) Muskaan

(D) Yashaswi Jaiswal

(E) Question not attempted

= Rw e Reenfedt & & grerea vy & ey S

aimﬁzrngmﬁmamﬁrﬁfﬁaﬁmw
(A) Tz fifs ®) wewhidwn
C) =M

(D) 9T STaEaETE )o
(E) afaws
Who among the following was appointed as the
Deputy Chief Minister of Rajasthan in December
20237

(A) Manoj Baghmer(B) Diya Kumari
(C) Sumit Godara (D) Jogaram Patel
(E) Question not attempted
ﬁaﬁtmzaﬁgﬁﬁﬁﬁmﬁﬂq_ﬁﬁ
ﬁﬁﬁmw
(ﬁb e @y’ R

) gfimrEm (D) SRE 9
(E) HgARE v
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97 The main problem in the agricultural growth in
Rajasthan is:

Choose the most apprﬂprfﬂff answer from the

options given below:

(A) Limited availability of fertilizers
(B)
(©)
(D)
(E)  Question not attempted
T 5 4 e g A 2
ﬁ“ﬁﬁﬂﬂﬁﬁﬁﬁqﬁmﬁﬁaﬁﬁmﬂﬁ
(A) IR i Hifir Svce )

st
(C) i forw whfira 3edi i e
(D) ot s v

(E) eraf@wa

Erratic rainfall
Limited number of tractors for agriculture

Very small number of farmers

98  Where is “National Research Centre on Camel”

situated ?
Choose the most appropriate answer from the
options given below:
(A) Udaipur
(B)
(C)
(D)
(E)  Question not attempted
R I STHIA Fr el o fera 7
Foreferfiae foeen & & wrarfiras g s i
(A) 3@q

By A
(C) =g
(D) e

(E) wqaf@yy -
KiM| ¢

Bikaner
Mount Abu

Jaisalmer

21

20

100

In Rajasthan nuclear power plant is located at:
Choose the most approprite zn59er from the
options given below:

(A) Tarapur

Rawatbhata

(B)  Narora

(C) (Dy  Kalpakkam
(E) Question not attempted

AT ° AN 33 55 52 fom 20
ﬁﬁ'ﬁlﬁﬁ%ﬁ#ﬂiﬁm%ﬁ#aﬁ:
(A) AATH (B) : )
AEF TENEE (D)
(E) S wa

FATEEA T

Name the State Bird of Rajasthan.
Choose the most appropriate answer from the
options given below:
(A) Sunbird
(B) Dove
(C)  Great Indian Bustard
(D) Peacock
(E)  Question not attempted
TR o T=9 Tell %1 909 4150
Frefafiea faeredt & & waifies svgm s 35
(A) wm=E
(B) T (29)
Oy Tireraw (3 e wwd)
(D) dn
(E) Smfawd

101 Who built the* Taragarh fort’ in Bundi?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)

Rao Raja Bair Singh
Adinath Ji
Maharaja Kumbha
(D) Raja Aniruddh Singh
(E)  Question not attempted
o 3 anrrg fer feaen BI0 SIETET TT?
Freifetfaa fasedl i & waffies I9gw 9T
Wi AT atfae (B) anfeary it
(C) wEREmEFT (D) = aifeg foe
(1) i@ 94
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102

Mateh Fast=1 withy Lisi-|t,

List-1 (Person) Lint-1 (Aren of Work)

n. Komal Kotha "5, Singing
b, Shaitan Singh 1[I|. Journalism

¢ Jagjit Singh AL Folk eulture

o P Ihabarma)

IV Bravery/Valour

Shivrma N
o1 . u'rmaiﬁrmﬁ’n
Tt (mafi) a1 (T )
N A RE. g s
N
e wElia fiin M. v depfy
d. o, wmEme ol

AV, mEElmTE
Choose the mast appropriate answer from the
Options given below: * "!

4 faw o forerenit 5

Hﬁﬂffﬁw?ﬂgﬂs’w?ﬁ
(A) a-1V.b-Il,c-1,d- 11

M) a-1mb-Le-Wd.m

o a-m.b-_l_}_r,.{zl,d-u
(D) a-l,b-ll[.c-‘llld-l'v'
(E)

103

Question not atfefnpted / HAaiE ug
t

Who established a scét (’:alled *Nishkalank’ (holy
and sinless)?

Choose the most appropriate answer from the
options given below: st

(A) Saint MavJi !~
(B) Ram Charan Jit
(C) Maharshi Navaﬁ%m Ji
(D) Saint Rana Bais
(E)  Question not attempted
e, (oA o't fem) T dwRm £
TaTgAT R 7
e et & aratfores 3w s
oy wAmES
(B) T ’1
(C) weft e,
(D) | TAIAT p,:
(E) >
KLM| ¢

21

<

22

. L il
r=} 200410 20077 =

G ‘y Who served as the Governor of Rajasthan from

L

(A)  Margaret Alva
v

(B)  Pratibha l';ki_]

(C)  Vasant Dafial patil
r

(D)  Prabha Rag 3

(i)

Ouestion mn}l attempted
2004 7 2rm7_=r:ri='ﬁann—mq?m:r#

i "
Trdm,m‘__ il
(A) mnﬂc——{:j
(B) wfear mifzey
(C) FoAzm e
(D) w7
y ! r2eeN . 03
(E)  wrqafr ug. b
i~

Who authored ih_| book ‘Samta Darshan ~\u:
Vyavhar'? (\.]

vl
Choose the most{-appropriate answer from the

options given below:

(A)  Acharya N;t_l‘%n:sh Muni
(B)  Acharya Pfaimod Munj
(C)  Acharya ‘-{i_s:laesh Muni
(D) Acharya TUM;

. N
(E) Question NPLattempred

ﬁ%ﬁaﬁmﬁﬁﬁﬁﬁswmgﬁ:

3

(A) W‘Tﬁﬁﬂﬁﬁ ¢
(B) syl 3
- ™

(C) ﬁu‘t\fxﬁ x
(JPPT SEiE 2
(E) ﬂaﬁﬁﬂﬂ_) =
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(06 A shopkeeper .
'\J}ﬁ . Per sold two pens at (he Same price.
One 15 sold at 4 profit of 10% and other af

of 10%
(A)
(B)
(&)
(D)
(E)

a losg
. The overall profit or losg Percentage is.

1% profit
2 % loss
No profit, no loss
1% loss
Question not attempted
O ST 2 5 T e I R
0% BT S 0% R A e,
T anarw a2
(A) 1%amv (B) 2%wR
© FEmIER @y %R
(E) ruiawy
gt
flﬂ}/ An article is sold ;‘tﬁa?:;s of 15% . Then the ratio
of selling price to cost price is:

T 95 15 % & 9T 3=t et #1 o se R

=

SO Mt o ==
g T ST R I &
(A) 19:20 LBy 17:20
| & (C) 21:25 (D) 13:20
e (E) Question not attempted / Iﬂaﬂ'ﬁﬂ'ﬁ'ﬂ

- (fﬂﬁ;' Sushil borrowed T 6000 from Shashi at simple
- interest. He repaid ¥ 9000 to Shashi after 4 years.

The raté of interest charged by Shashi is:

gefier T 6000mmmwﬁmm@mﬂ4
—

i Bﬁaﬁagmﬁraﬂzw%mﬁrﬁﬂﬂ

ey 1 o & AT g & —
AT 12.5% @ e

(D)
(C) 11.11%

il
(E) Question not attempted / st

KLM| 4

B.5%

22

e

110

23

—AEY

@ A certain sum of money is deposited in a bank,

which pays simple interest at the rate of 5% per
annum. In how many years will the sum of money

double itself?

(A) 15 years (B) 20 years
(Cy 25 years (D) 10 years
(E) Question not attempted

v fafir geofi uw o & s Y ol 2, 5 5%
wfiad Y o & SR s 2ar 3 fead 96t F

et g € ST
(A) 1539 \,paj/z—oaﬁ
(C) 254 (D) 10ad
B -
(E) STwia v =

=
Which of the following is not a biodegradable
waste?
Choose the most appropriate answer from the
options given below:
(A)
(B)
©
(D)

(E) Question not attempted

ﬁq%ﬁaaﬁﬁﬂa-maahcnww
&7
ﬁnﬁhﬁaﬁﬁﬁmmm@:
(A) Tﬂgaﬁ@ L

® AR

diferefi dsht (@

%ﬁm@_?-_m -

sTaiE

Jute bag

Fibres of coconut
Polythene bag
Banana peel

(D)
(E)

| Contd,,,



111 Which 8 the following discases are transmitted

by air? P~

.
a. li_?-cn:ulusis b. Influenza
L @apcer d. Polio

C hoos«:,q?e most appropriate answer from the
nplmnsé;.vcn below:

(A) bandc only (B)
(C)  ddhd d only (D) aandbonly
(E) é\ uestion not attempted

oy LR FH ¥ a1y T

v R
R

c. %E:_

d.  difemr
ﬁﬁ%gﬁmﬁﬁﬁmﬁmwgmmgﬁ:
FaTbRc (B) Faacaind
FaeTa ot d '{Dfaﬂﬁ'aaﬂ'(b.

e

c and d only

a
b.

(©)
(E)
N
112 The prE:) ss of pastoralists losing their animals
and livelihood due to government policies and
modern development is known as:
Chnose*‘ﬂlc masr-. appropriate answer from the
uptionsrg,ivcn below:
(A)
(B)

Reforestation
Dékertification
%toral imM
(D)
(E) Question not attempted
T et 3 srgfie fae & FR S
am’éf’hwan st Shifaer 1 @ A o @
Fed %
ﬁqi%lﬁaqﬁm # § wafferes I9gw ITCT:
(A) iﬂhﬁq s
(B) WE 4
(C) FGren ITyarad
() wafawd
KIM|] 4

Distress driven Elw_lznt

23

[ ——v.“_

24

113 Which of the following statements is not true
about Raikas of ifﬁjusthan?
Choose the mﬂsttu_:appmprfare answer from the
options given bejog:

(A) Godwar f-la’ikas mainly rear sheep and
goat, { 5

(B) Dhandi is the settlement of Maru Raikas.

(C) Raikas are!traditionally, associated with
pastoralis :;unly as their profession.

(D) Maru Ra‘,lﬁﬁs are associated with camel
herding. ¢

(E) Question ot attempted

Ty & T =i frefofas § & S

o T 2

Freferfias faed i & wratfires Jug STOE:

o (A) TR T T g S S qrerd g
By i, mf_{:ht_a_;r__ drafiat 3

(C)  WHTITe &F § T SHIET F T & TR0
e &

(D) T TIHT e TR H IS U (-

(E) orqefm wh

114/ On 23" September 2024 in which area of
Rajasthan the [Sainik School was formally
inaugurated by thejRaksha Mantri of India?
Choose the moftuppropriate answer from the
options given be‘l“ﬁ'{v:

(A)
(©) (D)
(E)  Question not attempted

23 fhﬁarzmqfr‘tmn%ﬁmaﬁaﬁqama

Wﬁmﬁﬁﬂmm%mw%w
frmn

: L b
Jaipur 3 (B) Bikaner

Udaipur ﬁjmer

ﬁnﬁaﬁaﬁwﬁ}}amwmﬂa
(A) g . (B) R
(C) 3@P (2 (D) anR

(E) orafa wa
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116

Which of the following article ol the Indian
Constitution was amended significantly in the
year 20011972

Choose the most app ‘fpnfrm- answer from the

options given below: {

(A) Article 360 i :

(B)  Article 356 :‘xl

(C) Article 366 &

(D) Article 370 r__"i

(E) Question not alt‘cr?mtcd

ﬂmaﬁwwmmmﬁzaﬁzmgﬁ
qgaqgfw%mﬂ'ﬁmﬂﬁmw%ﬂ
frffiae el § Qaaffae Iugw I TH:

(A) g=dE360 :
-
(B) == 356F N
(C) ITTDE366 ¢
sg=e370 v
(E) et o

The New National “Education Policy of the
Government of Indiﬂ{?as changed the school
education pattern from _;lﬂ+2 to: -

Choose the most apprapriate answer from the

options given below: i
mmaﬁwmﬁm:ﬂﬁﬁ 10+2 fEmerdt

ﬁraamurrf-ﬁera’r % wrge R 1
Pttt et 3 3 gaffaras Fage S S
(A) 5+4+3 3 5+3+3+4
(C) 6+3+3 (D) 8+3
(E)  Question not at}é%pted | Irgat WA
i
117 Where is Pushkar fairﬂ_‘tfrgnniscd ?
(A)  Jodhpur b"(}i) Udaipur
(C)  Ajmer (D) Bikaner
(E)  Question not atgmpted
I Hel o1 ST 81 BT 87
(A) g [‘4 B) SFAEH
M smd D) i d
(E) srqmfmwa O
KLMm | & : f

118 Which of the following is a popular folk dance
form ol Rajasthan’?
(A Ghoomar (13)  Bhangra
(C)  Yakshagana (1?)  Fu :;1
()  Question not attempted
ﬁmﬁﬁaﬁq-mmwﬂmt{aﬁﬂ%zw?"
A8y g (B)
(C) =ETE (D) tﬁf@fl
(B) a9 E}_:
o
119 Select the name of a desert which is located in the
state of Rajasthan.
Choose the most appropriate ah8wer from the
options given below: E._:
(A) Kalahari desert ol
(B) Great Basin desert Y|
(C) Cold desert ™
(D) Thar desert i
(E) Question not attempted =
w0 Yre 3 T T =g IR ST e Y2 §
2l <
ﬁﬁﬁ%ﬁﬁﬂﬂﬁwﬁﬁﬁﬂﬂﬁmaﬁ
(A) =Temert T
(B) e s i E
(C) wiee ifimam o
N> R v
(E) et v ©
120 India’s biggest saline water lake located in
Rajasthan state is: 2
Choose the mosr appropriate q;r:-:fxx'er from the
options given below: o
(A)  Kuachor lake (B SafBhar lake
(C)  Rajsamand lake (D) W nilﬂinul: a lake
() Question not atte mpied
Waﬁlwﬁﬁ@ﬁmﬁﬁﬁ#ﬂ‘ﬁa’tnﬁwﬂ
feera .-
Frafafas R § i’rmf&w’aﬂwmgﬁ
(A)  wOIT sier BT 1 st
O wsErRsiE () g siter
(1) siqafia wa N
# & | Contd..
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. 3 o e i « in the ratio of 5 2 11 1 their F
121 Which of the following rivers is associnted with ﬁ.}/‘ Two numberk are 1 , : iy
inland drainage system of Rajasthan’ ILC.F. in 7, then the larger of the two numhers ix: ‘:
Choose the most appropriate answer from the A Wt 71 A 5z by ufz e wrm }
i A 7 8, @ 24 At 4 441 deen b ¢
oplions given below: " g T
(A)  Chambal (B)  Kantli (A) 557
(C) Banas (D) Sabarmali A 77 e ",':"'J '
n L i ! =g
(E)  Question not attempied € 5 ’ S
foreaferfera @ 29 ot 74 mavaw 61 i FAT ) ,l'_L)a
STATE &% @ Tt 2 (E)  Quéstion not attempted / ATATTA 34
adibils S . ) 1
Fraferfaa faed # @ waffis sogm 37 T g
(A 19 f ? 125 “Hawa Mahal" situated in Jaipur (Pink city) was
C] e s 4 designed by which architect?
( ) EF!TH\ {D) fda 1A Choose the most gppﬂ;prﬂ'ﬂ!& answer {rom the
= - options given below: ;
(A) Sawai Jai Singh
122 Which is the originating place of Luni River in (B) Lal Chand Ustad
i st (C) Ustad Hawa Singh
Chiﬂ}ﬁt lf!c most appropriate answer from the (D) Sawai Pratap Singh
Gption piven boiow: (E)  Question not attempted P
(A) Naga hills of Ajmer Sy (et JTh) 1 e <gar e R ar i
(B) Rupill Glacier mmwwm o= = .i
(C) Minda mountains of Vindhyachal m&mﬁﬂmw rmgﬁ-
(D) Chaurasi Garh i

(A) wEdsEfas By @ IER :
(E)  Question not attempted (C) e war fite (D) waT g fie
o 7 A I e v 3 R v @ pen E

i i (E) o¥ff@ e

Frefeften foaeredt # & waffiw sogwsmgt | 126
LX) ST AT 9Erg

*Folk songs are the language of people, they are
the custodians of our culture’,

hoaiada s e

(B) wqa femaz | Who made the above statements? r
(C) Thvur=e & figy oda (A)  Mahatma Gandhi
(D) et Ty

(B)  Sardur Patel 4

(E) srafa gy (€)

Jawnhar Lal Nchry

| (D) Rabindra Nath Tagore _ .
@ The LCM. of‘%. %,_ i _& i (F)  Question not altempted ;
I8 2.4 o 4 gt Tt e st |
L — S et farerds amor g mé 0 1
v @ s B) 777 (A)  sreTes mivfy W -
2 % (0 S (D) 210 (©) mmamerm“n Ewbﬂf E
:%!F? (E)  Question nol attempled / STafE w4 (E)  srofa wy G ]
KLM | . 26 | Contd... | '
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137 The famous Agni dance of Jasanathi Cult | 129 Which fuir is the largest animal fair in Rajasthan?
originated from which place in Rajasthan? Choose the mostsbippropriate answer from the
Choose the mosr apppbpriate answer from the oplions given hchan-_
aptions given below: p. (A)  Pushkar Cyniel Fair
(A) Barmer v (B)  Veer Tejajl Animal Fair
(B) Jaipur '::‘j (Cy  Animal I’Ilg,_!KumuIi
(©) Bundi - - (D) Donkey fafrRajasthan
(D) Bikaner O (E)  Question not attempted
(E) Question not attempted [T 1 gy agt 9] w1 -1 A7
mw%nﬁaf&rmﬁzﬂﬁfw% ﬁﬁ%ﬁﬂhﬁ?ﬁﬁﬁaﬂ%mwm
E;r_r_unﬂgi ? I-h (A) e v, T

riferfiaa faeresit 3 & drarfferes swg so B "; e
(A) STEH g (C) W[ Fe,
(B) SETC - (D) T He, TS
© &t = () omafasd
(E) aﬂﬂﬁﬁmﬂ‘ ;S 130 When carbon dtoxid-: gas is passed into lime
r~- water, |t turns thﬂme water milky. This shows
128 For which folk dram%-igl Rajasthan the stage is set the process of: (‘-q
in an open colony urﬁourtyard of the market? Choose the most-dppropriate answer from the
Choose the most appropriate answer from the options given below:
options given below: - (A) Physical change
(A) Bhavai ﬁ (B) Cundcnsafi:n
(B) Jagore [~ (C) Crystallizatibn
(C)  Rammat E:_j (D) Chemical E;-Exmgc
(D) Jatra o (E)  Question not attempted
(E)  Question not :Fﬁérnplcd St el TrgsitETyE e <A % 9t ﬂ LELLG)
T 3 e et @ s et A a1 | o, a<p s e g o e s
W%I{&Tm@ﬁmmﬁ? Wﬂﬁl?m?ﬁlﬂﬁﬁfflm%
Frfefian famedt 4 wratfores sugw s Frfeafir fraresii f & warifires sage 37
(A) var - (A) sifaes qhﬁq
(B) wpir [:I (B) ch:{ o\
o o W il -
(D) Sy f‘j (D) vETrEfEE aﬂa'rh
(E)  srafea war - ()  siafa ua
Klv) o 27 [ Contd...
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131 Galvanization js 5 process in which iron objects | 133 Which of the following metal is found in liquid

are coated with to protect them from

state at room temperature?
rusting.

Choose the most appropriate answer from the
Choose the mosr appropriate answer from the

. options given below: '
opuions given below: ] Mgisssi B sl
(A)  Zinc (B) Brass :
(€) Gold (D) Silver (C) Mercury (D) Sodium
(E) " Question not attempted (E)  Questiori not attemipted
,_Wagm%ﬁmﬁﬁ%?ﬁaqaﬁq{ ﬁfﬁ%ﬂﬁﬁ%aﬁ#mﬂ@w%mﬂﬂmﬁa
— T AT o e & e o s ey e 3 uré St &
i P fasved & erarfires e 3
ﬁﬂiﬁﬁﬁﬁiﬁﬁrﬁﬂmﬁmmmgﬁ A)  Aehfirm ®) e
hﬂﬁr E . x SO TEiEmE) (D) wifemw
(D) :
(E) afawy (E) 3rgafE us

A magician plays a trick and adds a colourless 134 Maich List-T with List-1L.

solution to a glass of ammonium hydroxide List-I (Element) List-II (Colour)
solution and astonishes everyone with white

B

Sulphur L Pink
fumes of ammonium chloride. The added solution 5 Chlorine . 1L Yellow
was: ;

c. Phosphorous 111 Green — Yellow

=2

Choose the most appropriate answer from the

d. Oxygen IV.  Colourless
options given below: ) Tt %WW-HTH ﬁlﬂﬁm‘h
(A) Sodium Hydroxide
(B) Hydrochloric Acid | W" e eI o)
(C) Nitric Acid = o K Tl
(D) Sodium Chloride b @A L e -\
(E)  Question not attempted C. BRI ——— L,  su-disr
U SRR W1g e # i swifan e d. #ﬂﬁm____m, T

wﬁmﬁﬁmﬁwm
TR FeREE & ae YU a9t Hu & afa & )

Choose the moss appropriate answer
options given below:

from the

feretran o faerma an:_ ﬁﬁqﬂqﬁﬂﬁﬁ%maﬂgﬁmgﬁ:
Freforfiaa fosredt 3 & aaifirs sugw o0 TH: (A) a-1V,b-lLe-Ld-1
(A) i R B) a-Lb-1V,c-ld-1 T4
(B) g 37t : (©) a-ULb-llc-1V,d-1

' (C) i 3t _ © a-1Lb-llLe-Ld-1y
(D) “(ﬁﬁ'ﬂqﬁﬁﬂﬁ :,}[l:;, Qu;;ﬁon r-mt attempted / STARE W
(E) orwfays Contd... §
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T el

i
. @5’/ Which of the f‘u][owing is

A

the correg| formuy|g for

numbe, i
rof 'Mages formed for an objecy placed

betwee :
" WO plane mirrors inclined at 5 certain

angle?

L\
hoose the Most appropriate answer from the

options given below:

A) Numbers of image (N)=

180
angle between the mirrors

-

Numbers of image (N) =

(B)
(

90 ) "
angle between the mirrors ) * !

Numbers of image (N) =
(C) ( 180 )+ |
angle between the mirrors
Numbers of image (N) =
(D) 360 )
( angle between the mirrors
(E)  Question not attempted
foreft o 1or o 377 3 wrae il 3 off et
e e e
e o e T whafarat o e & fo Frefafe
8§ § &I | g gel 87
__-_-_-_-_._._-_._-_._._-_ .
Freaferfia forpedt i & wartfires 30gm I T

180 ]-l—l
180
() qﬁrﬁa‘ia&wN'{wﬁa‘sﬁﬂﬂ““ﬂ“
360 ]_|
a8
(D) ﬂﬁtﬂﬁfﬂﬂwN'(z&uﬁﬁmmm
sv UV
i o PRE
KM@ T
G e

@'hﬁ:

H{-“J which of the following statemeny s T
Sy ; i '

= about reproduction in camels?

'?( ;_-humc the most appropriate answer from the
options given below:

(A) For reproduction, camel should not be
older than 20-22 years,

[n winter male camels are given more

(B)
nutritious food.
(C) The gestation period in camel is generally

380-400 days.
For reproduction, camel should not be

younger than 5-6 years.

(D)

(E) Question not attempted _

e & & $i2 & o 3 AR X .61 Fo FEL
() .

| %waammmﬁ

(A) ¥ % fore, 3 i 311 20-22 7 § fern
et gHt =y

(B) wal # T 32 i Afereh ek siter. fRear e
2l

(© ¥ & miwrer #t srafer amE=E: 380-400
fem <y grefr &)

(D) 9 % for, Fz Y 31y 5.6 af & w7
Bt =ty

(E) rqaf@wy

@ If the difference in the compound interest and

simple interest on a certain given sum for 3 years

at 10% per annum is ¥ 1,674, then the sum (in 7)

IS -

o fafir ofir o 10% it anfde =t w3 af 77

G S 3R FreTor s FM AR T 1,674

2 ey (¥ 1) . =
AT 54,000 (B) 53,250

(€©) 52,500 (D) 54,600

(E)  Question not attempted / eﬂiﬂﬂﬁ Lk

Il the rate Percentage of interest is equal to

number of yeqrs, the
T 5000

the
0 rate percentage is -

THTOT 39157 € 2450 1 afY warr ) §

()
(12)

Ry
0%
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Question not attempted / STefE wy 3 'X\\
A

- 3 G“
stmple interest on 4 sum ot 5000 5T 2450.7 § 3

X



A 3 L
9 \\f};/ n "If[\'\z‘fﬂ"#—__
s R\
) 139" A sumof - L
g EUer L IRsy 1S to be divided among A, B and
C such that . A's share — B'sshare _ 3
'sshare ~ C'ssharc ~ 4
Then A’s share i -
Yi1sso = A, B 3 C & g s R e
Y
EIGIE-S -'i-m_'_f‘fﬂ Bm‘mti
N BHam, Covem 2
'E:‘ FFTAT‘-FI'FE‘GRT% j
ool (A) TS T (B) %450
_b\j/g (€) 600 (D) T500
v / (E) " Question 1ot attempted / 1At Wy
! _
< 140/ Find the fourth froportional of 2,9and 18,
. {@ﬁ_ 2,93?R[3mvmmm@rﬁm
\{g (A) 48 : ; (B) 76
) 8l (D) 25

Question Hbi attemnpted / 313?113 b

n/(,_j@ The total numl:E_réE" of medals won by India in

%ﬂ' X Pa:al}-mpiczl]zil-atpaﬁsis:
‘*/q\

2024}?%%&%%@@#
(@ (A) 29 T (B) 30
(C) 31 (D) 28

(E)  Question not attempted / HTARE Wy
=P i

142  Select the nam;:- of 1%

Minister of Rajasthan from the following:

and only woman Chief

1 o ToloYoroy -l L AN R RN R A R IR

Mmme
-—‘jl = 5 . ooT o, 1" T:F * ?._-
— M Qﬂ_ : i
2 p
= 7 o s i il g //{
' i
o A 01
143 The present governor of Rajasthan is: (As on
September 2024)
(A) Shri Kalyan Singh
(B) Shri Hdribhau Kishanrao Bagde

Shri BHajan Lal Sharma

(D) Shri K:{ raj Mishra
uesti ot attempted

Mﬁ;%‘gwmmzm F) F
R o |
(A) =t v g

B ot efog e A
(©) eyt ymt

(D) it Ferqret iy

(E)  srafav

Which of t]]e((;‘;llowing flower colour expresses
/ as dominant trait in garden pea plant?

Choose the frdse appropriate answer from the

options given below-

(A)  Golden™'

(©)

e (B) Black

(C) Violet (D)  White

(E) Quesﬁoninotattempted
nﬁwﬁm%ﬁﬁgwmaﬁqﬂ@mm
— =TT Sy
ﬁmﬁiﬁaﬁﬁ@ﬁﬁ%maﬁamﬁ;
(A) T ® ®er
(©) Wl =g (D) 27 @

(E) W&Egs

0 145 Which of therféllowing branch of Biology deals
(A) " Smt. Shila Dixit with principl6¥bf inheritance? ' _
(B)  Smt, Sust@:a Swaraj Choose the E‘olsr apprepriate answer from the i
©  Smt. Suciﬁef:a Kriplani options given below:
(D)  Smt. Vasundhara Raje (A) Ecology (B) Embryology
(E)  Question not attempted (C) Cytology (D) Genetics
i e et & wrorerm 6y Taf S B (E)  Questjop not attempted
HfeeT e g = Frefafaa H3 sha-fam i 27 @ ey
mﬁm o stmiawfa |
(B) st e e i e AR
(C)  sftee g fnt v (A) B) ‘spper
AB)  sftereft e - (©) ﬁﬁwﬂ:ﬂ PV SR
5 v ‘
- B e ikuntd".
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MR ANSWER

St & on lm'lﬂi‘ page
o enad e 11

e

-

—

P

¢ Mff-' Extemal appearance of an individual (organism)
“&/ is called as:

Choose the mosr appropriate answer from the

149 On the occasion of Teej festival in Rajasthan,

women mostly wear .

options given below: Choose the most app. ropriate answer from the
(A) Genotype options given below:
(B)  Phenotype (A) Lahariya Bhant ki Odhni
(C) Homozygous ' . 3
(D}  Dominant character (B) Lghnrlyil T
(E)  Question not attempted (C) Pink Pomcha
&Fﬁﬁﬂaﬂa‘iﬂ! FEALL: (D) Blue Pomcha
ﬁn%ﬁaaﬁm?ﬁﬁﬁwﬁhﬁmmai
(A)  SfwEy (e (E) Question not attempted
(B) wwmIrey (Fritersy) e 2 et 36 Ve o ST T Hfed st
(C) =g 3 : wEEE
(D) w7t Eqor —_— &
(E) srwf@ws e formedtt 3 & wraffire sugw s
4™ e Wi o et |
147 That poetic text where the description of glory o B 5
wars and \"ﬂlﬂll].’ ofa kl‘l].g g'nrcn 18 {B) W@:‘a
Choose the most appropriate answer from the (C) et W=
options given below: e ot
(A)  Vigat (B) Raso ¥ : r
(C) Rupak (D) Vel (E) srqaf@ws
(E)  Question not attempted
€ wreq 0 forad T F et aqu- R 31”1'(‘___15“ On which festival in Shekhawati region of
€ 1n a circle .playing a
ﬁnﬁ%aﬁaﬁﬁﬁ%mﬁwmmgi o B
A) fame 6By T musical instrument called chang?
(C) =9 (D) et Choose the most appropriate answer from the
(E) SAaf@wg e
) ptions given below:
148 Kuchamani Khyal was started by which famous (A)  Holi (B) Tegj
folk dramatist? (C) Diwali (D) Marriages
Choose the most appropriate answer from the (E) ;
e s v bl Question not attempted .
(A) LachhiRam (B) NanuRam T 3 et & 3 fore et o
(C) RajaRam (D)  LalaRam mﬁm@[mm% o R T
(E) Question not attempted mﬁ;g-,
Tt T Y YT T g et wrewrem 3
£ e ﬁ“‘%ﬁwﬁiﬁﬁwﬂ‘ﬁﬁﬁﬂﬁmﬁi
Freferfiara fampedt 3 & wrafire suge 3w AT Brely @ @
A =i (B) Tquw (©)  feareh p) fram
(D) =
(C) T=mUH (D) amem oy - :
(E) omefass ) et v
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